Networking – Subnet Masks
The subnet mask works with the IP address.   For a subnet mask to be valid, its leftmost bits must be set to 1 and its rightmost bits must be set to 0.
The subnet mask is used to identify the subnet to which an IP address belongs.  It does this by performing a bitwise AND operation (returns true if both operands are true and false otherwise) on the subnet mask and IP address.   

	
	Hosts
	Netmask
	Amount of a Class C

	/30
	4
	255.255.255.252
	1/64

	/29
	8
	255.255.255.248
	1/32

	/28
	16
	255.255.255.240
	1/16

	/27
	32
	255.255.255.224
	1/8

	/26
	64
	255.255.255.192
	1/4

	/24
	256
	255.255.255.0
	1

	/23
	512
	255.255.254.0
	2

	/22
	1024
	255.255.252.0
	4

	/21
	2048
	255.255.248.0
	8

	/20
	4096
	255.255.240.0
	16

	/19
	8192
	255.255.224.0
	32

	/18
	16384
	255.255.192.0
	64

	/17
	32768
	255.255.128.0
	128

	/16
	65536
	255.255.0.0
	256
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